bofession]  PROFESSIONAL EXAMINATION BOARD
Pbexqminqtion Middle School Teacher Eligibility Test - 2018
board 26th Feb 2019 02:30PM

Topic:- Child Development & Pedagogy (CDP)

1) If a child has mental age of 12 years and chronologlcal age of 10 years then his IQ will be ./

afe el o= Y AARiE oMy 12 99 2 R FTAIHHT 1Y 10 9 2 A IHBT ST
(SfSwwr) ___ grm

1. 80
2.120
3.125
4. 100

Correct Answer :-

- 120

2) Which of the following is an incorrect advantage of problem solving method of teaching?/

fafafad & @ $19-H Rieor ) g9 H) g $37 &1 A &1 710a @1 82

1. All disciplines cannot use this method to solve a problem / Tt ﬁ@'ﬁﬁ‘f GRSl q@'ﬁf BT ITINT U] B!
T H & forw ! B Thd 7

2. Learners participate actively in the process / & Ufehar  Trereft () Gfeha U T HRT A &

3. It makes the learner interested in the learning process / Tg Tt (1=1X) Y 31T9TeT &1 ufchar &
fereraredt feammar & |

4. Evaluation of learning using this method is easy / 39 UgTd &l 3UIIT P ﬁaﬁmww
A & ST 8 |

Correct Answer :-

« Evaluation of learning using this method is easy / 9 UgTd &l SUIIT ﬁaﬁmww
A & ST 8 |

3) Gray matter of the brain that controls IQ and memory have greater volume in learners who

. & iR Tgfa ot Frfia s arer uiiass &1 3 Ay, Rrenfda & srftre




AT H g1 3

1. get sufficient sleep/ TITH ig o<l dTel

2. take healthy diet/ TIEY HTER ol dTel

3. avoid stress/ dITd H I dTel

4. exercise regularly/ fAIfAT §T @ <aR—TH FA arel

Correct Answer :-

o exercise regularly/ fAIfRT TT & ITH FHIA dTel

4) The is one who is more open, accommodating, venturesome, outgoing and pretty

confid%ent. / ___ 9% 8 ot 3if¥e ga, eaaR, STwsiid, 3999 iR S1w! smafayr
qren gl

1. Introvert / 313?3’@’[

2. Intro-extrovert / 3-]?17&'@?[ - aﬁ.zi‘@“r
3. Extrovert / aﬁ%ﬂ'@ﬁ

4. Ambivert / SHIHET

Correct Answer :-

« Extrovert / Elﬁ'oi@'

5) Obsessive-compulsive disorder (OCD) can be successfully treated using: / gﬂ?ﬁ-mm

faeR (3fEh) &1 awaagds sare e &1 SuanT 3 fHar o1 9o 3:

1. Cognitive behavioral theory/ SMTH® agR Rigid

2. Massage therapy/ &l R
3. Antidepressant medication/ TSIfSUAT &dT
4. Systematic family therapy/ HOTTelITd TRAR AT

Correct Answer :-

. Cognitive behavioral theory/ T3THTd® HdeR Rigid

6) Which is the SECOND step in the problem solving method? / ¥H¥IT WATaTS fafer & qur
TIOT FiT FT T 82



1. Formulation of hypothesis / uReerafl &1 =g

2. Testing hypothesis / UR&GEUATHT T TLETOT

3. Recognition and definition of problem / TFEAT T 3TR=A 3R aReTm
4. Conclusion / A&y

Correct Answer :-

« Formulation of hypothesis / TR& T3l T =TT

7) What part of our memory stores events that happened in our lives? / AR Fﬂﬁl’ HT FleT
a1 R gAR S & afed geanst 1 #ER 82

1. Episodic memory /Q'Iﬂ'm Fﬂﬁf
2. Procedural memory / UThITcHA® FHA
3. Semantic memory / Qrecry R{%

4. Declarative memory / PILIREED Fﬂﬁf

Correct Answer :-

« Episodic memory /W F{ﬁf

8) What is the first stage in moral development according to Kohlberg? /

Freaadt F AR Maw @ #§ ggem =wor w74y 2
1. Preconventional morality / E@-WCITITIFT Afddr

2. Periconventional morality / UI-URFURETT ATdehdT

3. Conventional morality / URURETT = fddhdr

4. Postconventional morality / URYT-UIFUIITA Afdedr

Correct Answer :-
+ Preconventional morality / lij-rf-CITcFCITITJ'IT-T Afdedr

9) What is the term Freud used to describe his theory of the structure of the mind? / %3 &

B g &1 39ANT Aq Y W F 39S Ry F1 quis F F e Faw

1. Consciousness / aT

2. Iceberg / 3-1'@?47"[



3. Libido / ferferet
4. Landscape / CE A

Correct Answer :-

o Iceberg / 3TEEN

10) What social motive is characterized by a need to control and influence others? /
Fia-a1 grATfaF WNF, g & AIfa F@ AR 375 vl @ f smaeasar g@m
aftte 872

1. Power / Q1Th

2. Achievement / 3TclTe)]
3. Affiliation / HIYU
4. Purpose / 352

Correct Answer :-

« Power / QIfth

11) Parents who believe in punishing the child show . | ¥ FAT-Rar St I3 #@ g3
F A Reaw wa@ §,_ qufar

1. Uninvolved Parenting / 3THdg (HTd=lcHb & & & ST §3M) TR
2. Permissive Parenting / HW QR

3. Authoritative Parenting / HTfAGIRG TIATRLA

4. Authoritarian Parenting / 3TTAGRATGT RIS

Correct Answer :-

« Authoritarian Parenting / 3TTRRATE UITRLT

12) At what age does the child start to show an understanding of the language? / I<I o 37
# oToT Y WHS @ YT FT AT 87

1. At birth / SFH I 81

2. At three months / did Feldd T

3. At six months / &: ZFI@T-T L°L§



4. At nine months / & EF@?T [SES

Correct Answer :-

o At six months / &: EFI?ﬁT-T L'k §

13) The diagnosis for children having problem in word finding is ./ A #H Usg @istet
&1 gAEAT F1 g giar Bl

1. Dyslexia / Brafagar

2. Dyscalculia / TSEheTergferar
3. Dysnomia / IS UEERI

4. Dystopia / fEEeif=r

Correct Answer :-

« Dysnomia / [B&faaT

14) Which is not the principle of inclusive education? / HlsT-aT FaTALA AT FHI ﬁ?{ﬁlﬁ C ]

g2
1. No discrimination between learners /fA&TTIAT & dra PIg AHma e
2. Separate classroom for special children /fIW gTdi & ToIT 37eT9T HaT

3. Bqual educational opportunities /T AT&Th TR

4. Catering needs of the all children /T gTdl T WU I SFTRIAT BT AT TGeAT

Correct Answer :-

« Separate classroom for special children /fIUW g=al & T 37T PHaT

15) Which of the following is not a factor that will protect a child against stress? /

farafaf@a & @ wl9 91 v& ag Frw JE § S g F gy vE T i @ e
1. Family / gRaR

2. Intelligence / @ﬁs’

3. Authoritarian parenting style / 3TTAGRATET TR Aelt

4. Peer relationships / Tedhd! R



Correct Answer :-

« Authoritarian parenting style / HTTQhRATGT TIARLT Qrelt

16) A 12 year old child understands that the weight of a table remains the same whether it is
right side up or upside down. What concept has he grasped? / T 12 "I &I d<dT g
AT & F UF A FT g9 I T &, 916 98 &8 3 & AT 3T g1l 39 5y
Rgeia #r wd7sm 87

1. Conservation / TI&OT

2. Inductive reasoning / 3TITHATCHD GG
3. Object permanence / d¥] TATRCT

4. Hypothetical reasoning / URehfeUd da%

Correct Answer :-
« Conservation / TI&TOT

17) According to Psychosexual Developmental Theory, fixation to which of the following stages results in
dependency? / A R Ry F IqaR, Awafaf@a sEeamet § § e Buior
(Rrardterer) & foveiar F guw @ar 82

1. Anal / 9[&T (TTel)

2. Oral / A& (3RA)
3. Latency / gYaT (elH)
4. Phallic / T (%ferem)

Correct Answer :-

e Oral / FIf@® (3NTT)

18) Growth always corresponds to the age of the child. This is because of the principle of WACCar:)
FAAT a=d &Y 37 § AA @aT gl TE & fRguia & FROT gar §

1. Continuity / faRaxdr

2. Uniform Pattern / ThTATT UeeT

3. Integration / TehTehOT

4. Individual Differences / Thep Heaadr



Correct Answer :-
e Uniform Pattern / ThdHATA e

19) Which of these is the best way to improve problem solving skills in primary school children? /

wrafAd ey & geal # gaear FEner Slad & JUR F F1 q9@ H=oT alls #4182

1. Solving mathematical problems. / IO FHATATHT T TATUTA HLAT|

2. Find solutions to problems that they face in their daily life. / 3T THATATHT T FATITA GioreT, Seaepr o

U fAs Saa & ATHAT A

3. Talk about their problems to peers in the class and the teacher. / 3cTchT THATITIHT &b IR H HET A TEUTS!
HR AeTH A AT BT

4. Apply steps of design thinking process and engage with community around. / @ $r Gfehar & X &
TN T AL LT 3R AU & FHAGT b 6 e AT

Correct Answer :-

« Apply steps of design thinking process and engage with community around. / @ HI gfehar & TR A
TR Bl o) LT AR UM & FHGR & T eFEA DTl

20) believed that personality develops through a series of stages and the effects of childhood
are long lasting. / FT AT o7 & safddea, @O f 0F @ F ATIX F

fRsRa gt § 3 99 & wama o gHT aF @A S
1. Albert Bandura /Wa@
2. Jean Piaget /Gﬂ:[ﬁtﬂa

3. Sigmund Freud / TS WIS

4. Lev Vygotsky / ford E||$3||(‘Q:|5ﬁ|

Correct Answer :-
« Sigmund Freud / F9THS %S

21) Who described a phenomenon called horizontal decalage? / aifasr gmmq ATHS USAT HT guid
fFaer fFam?

1. Erikson / 3R
2. Piaget / TSl

3. Freud / IS



4. Vygotsky / ArS Il

Correct Answer :-

« Piaget/ TOamSt

22) The term normative development indicates: /| &2mcaA® Rema orsg Hﬁ?l' EaG I H
1. Rate / @Y

2. Extent / HIHT

3. Direction / f&or

4. Distinctive qualities / fafrg o7

Correct Answer :-
« Distinctive qualities / TafRrE IqoT

23) When environmental influences coupled with cognitive factors are responsible for learning, such a

learning is known as:/ SI¥ JATGIUIT UG, TAECHS SRS & AT Aawt afew & Qo
frFer 8 & Y =9 @ & e Y T w7 A ST o

1. Operant conditioning / 3iTa¥€ HrRATAIT

2. Trial and error learning / Ucdel 3R aﬁf 37T
3. Social learning / @TATGI AT

4. Classical conditioning / Fellfdhel harerfedr

Correct Answer :-

« Social learning / ATATISS 3TAITH

24) As a future teacher, you will need to and connect with roomful of diverse students. /
T AT fRr8TR & T 7, 39T Y TaeTdr g1t 3R fAffie ot fr FamF a1y
ST g

1. Deal / YT

2. Connect / 33
3. Understand / &S

4. Collaborate / &I



Correct Answer :-
o Understand / §HST

25) Which of the following is not an example of critical thinking skills? / RFafaf@a & ¥ wia-ar
gt I Flerer FTUF 30T AST 82

1. Improvising /dclel AR BT
2. Classifying /aaiiﬁa Pl
3. Tracking /eT&T]HIT

4. Describing /<ITEATcHD

Correct Answer :-
« Improvising /dcehlel TR &AT

26) When children recognize that each individual is aware of other people’s thoughts and

feelings, then it is called:/mﬁﬁm%‘ﬁ?mmW?ﬁﬁ%ﬁiﬂﬁ 3R
HTGATSHT H 3aTd g, A I§ PeT oIl &:

1. social information role taking/ HTHTTSIh AT HHBI AT

2. social and conventional system role taking/m'cﬁ 3R IRuRe gorrelt Hr 9{@@7{ ol
3. self-reflection/ 3T Ufafda (Tew-Roreiarr )

4. mutual role taking/ 3Tadr 3-@?5[ T

Correct Answer :-

o self-reflection/ 3TcH Ufafda (Tew-Roaerr=T )

27) Why do we have culture-fair tests for intelligence?/ Bﬂﬁ' L' IES) §'®TI?IT & ﬁl’({ Wﬁf—
freger wderor ) 82

1. Intelligence tests should free of differences in language and education./ §@QFIT BRI , HIST 3R
el & 3feR I gad g AfeT

2. Cultural understanding is a part of intelligence./ W Y §@ Canyea e % I
3. Intelligence is culture-dependant./ §J,Irc§ Hi%q)l?ldh&ﬂ IR g |
4. Intelligence can evolve/ g@ﬂ?ﬂ &1 o Ry fosan S godr % I

Correct Answer :-



« Intelligence tests should free of differences in language and education./ Ej@ﬂ?ﬂ TRI&TUT, HTST iR
18 & SfeR ¥ o g AT

28) Which of the following determines the impact of failure in school performance? / Frafefea

A A H19-91 faemay ues= # srywedr &1 uHTa fAuffya sxarg?

1. Time allotted is more than what is actually required to finish the task / rafed THT 3T S
3T § Sl aRad H B IR 3 & fold SM1aa & |

2. The pattern and setting of task / BT BT U 3R TR

3. The Challenge - what the children asked to do—which is not engaging or relevant. / ﬂ:ﬁ?ﬁ S

S B & foru T 4T - 3hyes a1 Ui T8t 8l

4. Level of easiness in the task / BT § GITHAT b XX

Correct Answer :-

« The Challenge - what the children asked to do—which is not engaging or relevant. / ﬂ:ﬁ?ﬂ T 9

S B & foTT T a1 - 3h s a1 Ui 8t 8

29) A learner is an intuitive learner if / 'CI'% Udh ﬁT&IT Qﬁﬂg\_ﬂ AT god % o dg 41 EaTIT?

1. They notice the big picture, see how everything connects. / q Jo! Wik aad %, 3R U ) Fl»-|3_ A

PI UfehaT 1 S B
2. They pay attention to concrete facts and details. / q @H@ 3R faaRon IR &9 3 g |

3. They focus on the reality of how things are. KIS w%, 2| dRdfdhdl UR & ad %I

4. They like to describe things in a specific, literal way. / 9§ ool 1 fafRry, reawr: 719 gEA ol
BRI P 5|

Correct Answer :-

« They notice the big picture, see how everything connects. / q ®|<?‘nl dWR oW %, 3R I DS \_rilg_ A

o ufchaT 1 SWd B

30) Which famous professor proposed that children move from a position of egocentrism to

sociocentrism because of social interactions? / fr® Uflqy MHw & wfawfea fFam & s==r
TS Ul & HROT, AcAbrad AT T TATSART 61 AT d6d 82

1. John Dewey / S g%

2. Lev Vygotsky / o argaicehr
3. Jean Piaget / S TOra



4. Howard Gardner /@d$ MR

Correct Answer :-

o Jean Piaget / S I

Topic:- General English(L1GE)

1) Fillin the blanks with the correct option in the given sentence :

As proof of your citizen-- and ident--, you must enclose your passport.
1. --s.. -ical

2. —-ism ... —-ities

3. --hood ... ification

4. -- ship ...--ity

Correct Answer :-

e --ship ...ty

2) Fill in the blank with the correct option in the given sentence:

An individual who believes that nations should reduce their armaments believes in —-armament.
1. dis --

2. non --

3. pro--

4. un --

Correct Answer :-

3) Read the following passage and answer the question given below:

Once upon a time there lived a crow couple who had built a nest on the top of a tree. In a burrow, at the bottom of the tree lived a snake
too. Very often the snake used to crawl up the tree and eat all the eggs that the lady crow used to lay. The crows were deeply grieved and
when this happened time after time they decided that the snake was to be got rid of somehow. So the crow approached his friend, the
jackal, and asked for a plan. The jackal then told him to go and fetch a costly thing from the palace of the King and place the thing at
the mouth of the burrow of the snake. The crow went to the palace and stole a necklace of the queen while she was bathing. The guards
of the palace ran after it. The crow then dropped the necklace into the burrow of the snake amid the roots of the tree. The guards, on
reaching the bottom of the tree, found the necklace and it was guarded by the snake. Then they killed the snake and recovered the
necklace. The crow's family was relieved that their eggs were safe.

‘Who built a nest on top of a tree, according to the story?



1. Parrot

2. Mynah
3. Crows

4. Sparrows

Correct Answer :-

e Crows

4) Read the following passage and answer the question given below:

Once upon a time there lived a crow couple who had built a nest on the top of a tree. In a burrow, at the bottom of the tree lived a snake
too. Very often the snake used to crawl up the tree and eat all the eggs that the lady crow used to lay. The crows were deeply grieved and
when this happened time after time they decided that the snake was to be got rid of somehow. So the crow approached his friend, the
jackal, and asked for a plan. The jackal then told him to go and fetch a costly thing from the palace of the King and place the thing at
the mouth of the burrow of the snake. The crow went to the palace and stole a necklace of the queen while she was bathing. The guards
of the palace ran after it. The crow then dropped the necklace into the burrow of the snake amid the roots of the tree. The guards, on
reaching the bottom of the tree, found the necklace and it was guarded by the snake. Then they killed the snake and recovered the
necklace. The crow's family was relieved that their eggs were safe.

Who lived at the bottom of the tree?
1. A mongoose

2. A serpent

3. A rabbit

4. A fox

Correct Answer :-

® A serpent

5) Read the following passage and answer the question given below:

Once upon a time there lived a crow couple who had built a nest on the top of a tree. In a burrow, at the bottom of the tree lived a snake
too. Very often the snake used to crawl up the tree and eat all the eggs that the lady crow used to lay. The crows were deeply grieved and
when this happened time after time they decided that the snake was to be got rid of somehow. So the crow approached his friend, the
jackal, and asked for a plan. The jackal then told him to go and fetch a costly thing from the palace of the King and place the thing at
the mouth of the burrow of the snake. The crow went to the palace and stole a necklace of the queen while she was bathing. The guards
of the palace ran after it. The crow then dropped the necklace into the burrow of the snake amid the roots of the tree. The guards, on
reaching the bottom of the tree, found the necklace and it was guarded by the snake. Then they killed the snake and recovered the
necklace. The crow's family was relieved that their eggs were safe.

Why were the crows often sad?

1. Because they were often thirsty

2. Because they were often hungry

3. Because the snake often ate up all their eggs

4. Because it was hot



Correct Answer :-

e Because the snake often ate up all their eggs

6) Read the following passage and answer the question given below:

Once upon a time there lived a crow couple who had built a nest on the top of a tree. In a burrow, at the bottom of the tree lived a snake
too. Very often the snake used to crawl up the tree and eat all the eggs that the lady crow used to lay. The crows were deeply grieved and
when this happened time after time they decided that the snake was to be got rid of somehow. So the crow approached his friend, the
jackal, and asked for a plan. The jackal then told him to go and fetch a costly thing from the palace of the King and place the thing at
the mouth of the burrow of the snake. The crow went to the palace and stole a necklace of the queen while she was bathing. The guards
of the palace ran after it. The crow then dropped the necklace into the burrow of the snake amid the roots of the tree. The guards, on
reaching the bottom of the tree, found the necklace and it was guarded by the snake. Then they killed the snake and recovered the
necklace. The crow's family was relieved that their eggs were safe.

What did the guards do to the serpent?

1. They hit and burnt it

2. They killed it

3. Threw it out

4. They beat it

Correct Answer :-

e They killed it

7) Read the passage carefully and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built the water clock and an instrument
to find out time with the help of shadows. Little Newton was also interested in painting, collecting flowers and plants. In 1665, he
graduated from Trinity College. His contributions are the following: Differential and integral Calculus and Binomial Theorem. Newton
also proposed the three laws of motion. 1. An object moves only when force is applied. 2. Every action has an equal and opposite
reaction. 3. Every particle in the universe is attracted by all other particles. Newton devoted his life to science. 'Principia Mathematica'
and 'optics' are the famous books of Newton. He passed away in 1727 at the age of 85.

Which college did Newton graduate from?
1. Harvard

2. Oxford

3. Stanford

4. Trinity

Correct Answer :-

e Trinity



8) Read the passage carefully and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built the water clock and an instrument
to find out time with the help of shadows. Little Newton was also interested in painting, collecting flowers and plants. In 1665, he
graduated from Trinity College. His contributions are the following: Differential and integral Calculus and Binomial Theorem. Newton
also proposed the three laws of motion. 1. An object moves only when force is applied. 2. Every action has an equal and opposite
reaction. 3. Every particle in the universe is attracted by all other particles. Newton devoted his life to science. 'Principia Mathematica'
and 'optics' are the famous books of Newton. He passed away in 1727 at the age of 85.

Which fine art was Newton interested in?
1. Painting

2. Dance

3. Drawing

4., Music

Correct Answer :-
® Painting

9) Read the passage carefully and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built the water clock and an instrument
to find out time with the help of shadows. Little Newton was also interested in painting, collecting flowers and plants. In 1665, he
graduated from Trinity College. His contributions are the following: Differential and integral Calculus and Binomial Theorem. Newton
also proposed the three laws of motion. 1. An object moves only when force is applied. 2. Every action has an equal and opposite
reaction. 3. Every particle in the universe is attracted by all other particles. Newton devoted his life to science. 'Principia Mathematica'
and 'optics' are the famous books of Newton. He passed away in 1727 at the age of 85.

‘When was Sir Isaac Newton born?
1. 1642
2. 1640
3. 1650

4. 1648

Correct Answer :-

10) Read the passage carefully and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also



interested in painting, collecting flowers and plants. In 1665, he graduated from Trinity College. His
contributions are the following: Differential and integral Calculus and Binomial Theorem. Newton
also proposed the three laws of motion. 1. An object moves only when force is applied. 2. Every
action has an equal and opposite reaction. 3. Every particle in the universe is attracted by all other
particles. Newton devoted his life to science. 'Principia Mathematica' and 'optics’ are the famous
books of Newton. He passed away in 1727 at the age of 85.

How could one find the time of day with the instrument that Newton had invented?
1. By means of a pair of arms.

2. By means of shadows.

3. By means of sunlight.

4. By means of moonlight.

Correct Answer :-

® By means of shadows.

11) Choose the appropriate determiner for the sentence given.
We were bored because we had to do.

1. little

2. afew

3. alittle

4. some

Correct Answer :-
o little

12) Which of the following options best combines the given sentences?

He is a back bencher. He sits on the last bench.
1. The last bencher is him who sits on the last bench.
2. He being a back bencher, sits on the last bench.

3. He is a back bencher who sit on the last bench.

4. He is a back bencher, so that is why he sits on the last bench.

Correct Answer :-

* He being a back bencher, sits on the last bench.



13) Choose appropriate articles for the given sentence:

___nurse who has ___ right qualifications will have no trouble finding ____ job.
1. The ... no article required ... the

2. A..the..an

3.A..the..a

4. No article required ...a ... a

Correct Answer :-

e A..the..a

14) Choose appropriate article for the given sentence:
MLA visited us last year asking for votes.

1. No article

2.A

3. The

4, An

Correct Answer :-
e An

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
Everyone loves the Mc Queen Restaurant.

1. The Mc Queen Restaurant is love by all.

2. The Mc Queen Restaurant is loved by everyone.

3. The Mc Queen Restaurant was loved by everyone.

4. Mc Queen Restaurant has been loved by everyone.

Correct Answer :-

* The Mc Queen Restaurant is loved by everyone.

16) Choose the appropriate synonym for the highlighted word in the given sentence.



Priya adored the doll that she got from her favourite aunty.
1. praised

2. loved

3. abused

4, abhorred

Correct Answer :-

e loved

17) Choose the appropriate tense to fill in the blank in the given sentence:

The doctors sterilized their hands with soap before they the operation.

1. will start
2. are starting
3. started

4, start

Correct Answer :-
 started

18) Choose the appropriate antonym for the highlighted word in the given sentence.

Animation is not reality because the characters are not real people.
1. fantasy

2. realness

3. certainty

4. presence

Correct Answer :-

« fantasy

19) Choose the appropriate conjunction for the given sentence.



He may look thin ____, he is very strong.
1. as

2. however

3. because

4, and

Correct Answer :-

» however

20) Choose the appropriate prepositions for the given sentence:

Many families are satisfied _____ the results they get __ homeschooling.
1. of ... of

2. from ...in

3. with ... from

4. against ... out

Correct Answer :-
e with ... from

21) Choose an appropriate modal for the given sentence:

I have helped you in hard times if you were loyal to me.
1. may

2. would

3. can

4. will

Correct Answer :-
e would

22) Choose the option that best explains the highlighted expression:

I'd like to get her a gift, but nothing springs to my mind.



1. looks fresh
2. jumps to my mind
3. appeals

4. no ideas come to my mind

Correct Answer :-

e no ideas come to my mind

23) Choose the most suitable pronoun for the given sentence:
We finished the work, all by

1. themselves

2. oneself

3. ourselves

4, herself

Correct Answer :-
e ourselves

24) Read the sentence carefully and choose the option that has an error in it:

He has pictures of beautiful sceneries.
1. beautiful sceneries.

2. pictures

3. He has

4. No error

Correct Answer :-
e beautiful sceneries.

25) Change the sentence from direct to indirect speech.
She said, "I will be using the car next week.”

1. She is going to use the car next week.



2. She said she may use the car next week
3. She said she will use the car next week.

4. She said that she would be using the car next week.

Correct Answer :-

» She said that she would be using the car next week.

26) Choose the appropriate tense to fill in the blanks in the given sentence:

| you not back home this late?

1. Am... telling... coming
2. Aren’t... telling... to came
3. Haven't... told... to come

4, Did... tell... came

Correct Answer :-

» Haven’t... told... to come

27) Choose the option that substitutes the given phrase appropriately.
Dictionary of the special terms used in a particular field or job

1. Content

2. Annexure

3. Glossary

4. Index

Correct Answer :-

e Glossary

28) Choose the right tag:

He won’t mind if | use his notebook, ?

1. will he not



2. will he
3. haven’t he

4. have he

Correct Answer :-

o will he

29) Choose the right tag:

She went to the library yesterday, ?
l.isn'tit

2. wasn't she

3. didn't she

4, did she

Correct Answer :-

o didn't she

30) Rewrite the following changing the active sentence to passive.
We had to stop all other works to complete the assignment.

1. All other work has to be stopped by us to complete the assignment.

2. All other work had stopped by us to complete the assignment.

3. All other works was stopped by us to complete the assignment.

4. All other works had to be stopped by us to complete the assignment.

Correct Answer :-

» All other works had to be stopped by us to complete the assignment.

Topic:- General Hindi(L2GH)

1) WA RS gal 11 R F 1 $© -3 8 9t 39 fagr =3 ¥ g6l 151 919 981 3871 9l |1, a8
YaE 334 & Y@ @ Rafyam @it gl A 3= @M & Riw wvae 2 Ry afra 9g ) e 32 ag d19e7
FER A dd I g 99 TET 4TI 39 9 & 3 gfear ot gorht-aasht ot $i9 IyR Ian gfear -4 ik o
TEa-1Ea WEH F Tei¥ §U TRYA SR™T & JHed IR $t 3R geft-3ik arT ft & ur? gfear wram
T BT A8 FX TS A, g R IR a1ey AU, R 3t ge-il R RHIT g¢ vwa-whamae 3 @t N o



fSreT de1 9@ T4, o<l 98 ST9R § Hig 994 el 3, 319 ¥ URR-feen 39 gA-faaifii & g:@ &1 sigren
T F fore Ured ard o v § U3 &t gog | g ATaT @1 919 " o 98 JYia aikar i3 I qg $
TG 3eTS AN 9% TaTT 9 3o 1 Tt N1 32 Uge-use e arg - 3 gof on st <Rt ok gof 7 sm
P a1 W 1@ | 3R 7 +F Tbd A1 G)-31 STae? g3eH RIREH 98 T6d A1 g3eH RR W) 9 &t vt <t
EX WR & AN & T 39 [A-2N A &fad 81 IS A1 9F 0 D1 Y BT IRAT 181 Frerar af 39+t A Heuw a1 g
ST 81 S BTad § A1 HUR ISTY, I8 TAd! A 1D @IaT § T o IgT UT| T IGT Y- b B, T 741
¥ fore oft wgferga a1fRe ok gl 31 &1 oft o SiftreR glar 21

ITYed TN B! USH R IS T ¥Y BT IR T4133:

TRA- 3¢ B gog & g 3 € B9 WRge 399 ISR orar @2
1 g

2.99

3. Biere

4. g

Correct Answer :-

2) WA WRalS a1 T R & o $8 -yt 0 1t 3 fagr w1 § 7t 11 a9 981 51 @ F1, a8
YaE 334 & Y@ A Rafaam @it gl A 3= @ & Riw wvge @ Ry af 98 &) w1 3dt? a8 d19¢7
TER A Td Bt 9 99 I§T 4TI 39 9 & 3 gfean o1 gordt-aasht ot w9 IuR Ian1 gfear W3- i o
TIEd-UIod HEM & ISk §U ERgQ Siorm # Hed 9R & SR geil-3iR IRt off am ur? giear wrew
T P A6 Fb 3T Y, Tig R IR IR que, RR &1 gedi W P §U v a-whaae A 3 & oa
@1 deT aa 991, 31T 98 ST9R § Higl 994 Teit §, 19 ¥ URR-fea 39 - & g-@ &1 sigren
WA F 1T Nod 9ra A TS § 7 &t gog | g-& Ara1 Bt 91d Wi @ 98 SYid A 9 B gy &
e SIS A aF TaT A 36 9 It | 37 uxg-uss e ag - 3 gof o st < ik gt = om
BT IEARIT H 3Gl A Y T P TP Y| Q-3l STae g3eH RIREM 96 I6d U1 g3eH R IR a1 36wt )
MER WX & AN & T I TA-XNp A fAd 81 3 A1 5 9 B G BT IRaT ) fArerar ol I3+ A FeH asr &
ST €1 S BTad § A1 HUR ISTY, I8 TAd! A SIbs @Il & T o IgT UT| T IGT UT- b B3, T 71
¥ forg ot wglera a1k 8k g:& 81 @1 W tw SifteR gar 31

ST TR $I Ugh 1 U 7Y Uy $T 36X JaIsd:
U=H- Wd e § {5 drer &1 aiftfe Y@= forar mar 82
1. e &1 g &

2. A1 F G H

3.9¢ & Fqcg @

4. IE B G B

Correct Answer :-



3) WA WRalP e T4 R 8 o $o -7 0 O I faer w3 o gt 751 919 7L 77 9 71, a5
Fag 334 & Y@ & Rafyam @1 g A 3= @M ¥ g wves & Ru dfra sg S s 3z sg d19¢7
FER A Td B 9 99 T§T 4TI 39 9 & 3 gfean o1 gordt-gasht ot $i9 IuR Ian gfear -4 ok o
TEa-UIod W & Tk §U TR Siear # GHed aR @1 3R geft-3iv TRt oft @ ur? gfear wraw
T PTG F 30T A1, Tig R IR 91eR que, RR &1 geal R P 5T v a-whaa: A W & oa
@1 deT aa 991, 31T 98 TR § Higl 999 Teit g, 319 ¥ URR-fea 39 - & g-@ &1 sigren
WA F 1T Nod 91a A TS § 7 3t gog | g Ara1 $t 91d Wi @ 98 SYid A 7T B g &
g TS A aF TaT A 36 9 gt N1 37 uxg-use e a1g - 3 gof o vt < ik gt = om
BT IEARIT F 3Gl A Y T P TP d A1 Q-G STaex g¥eH RIREM 96 I6d U1 g¥eH R IR a1 36wt )
TMER WX & AN & T4 I TA-XNp A 5Ad 81 33 A1 5T 9 Y G BT IRaT ) fHrerar ol I3+ A FeH awr &
ST €1 S BTd § A1 HUR ISTY, I8 TAd! A S @IaT & T o 38T UT| T IGT UT- /b B, T 71
¥ forg ot wglera o1k 8k g:&f 81 &1 W te SifteR glar 31

ST T F UgHR A1 IR T U HT IR gaTsd:
- ‘gfSa &1 faeiy wee 82

1. gad

2. STITH

3. 318
4, A

Correct Answer :-

4) WG WAl 9l T R 8 ot $© -4 A 91 39 fagr s | gt 11 919 781 357 9@ |1, a5P
T 354 & Y@ ¥ el o gd) A 3% @M & e wxge & Re afs a8 &) w1 3dh? 98 o1 97
FER A dd I 9 99 T§T 4TI 39 9 & 3 gfear ot gordt-aasht ot $i9 IuR Ian1 gfear -4 ok ol
Tiod-Uiod WM & Ik §U TRYe S ¥ ales aR &1 3R geft-3iv arT ot & u1? gfear wras
T BT A8 FX ATS A, g R IR a1ey AU, R 3t gel R RHIT g¢ vwra-wwhama- 3 vt N o
T AT 9a 91, 3T 9% AR Hiel 99+ gelt 3, 31 ¥ uRR-fien 39 g-faaifieht & g o1 sigren
WA F 1T od 9ra A TS § 7 &t gog | g Ara1 Bt 91d Wi @ 98 SYid A 77 B g &
g SIS AN 9% UaTT 9 I 1 Tt N1 37 Uss-use e a1g g3-faai 3 gof o ardt <t ok gof 7 sm
DI IARITH TG F 3G 7 ¥F Fd Y| GI-3l ST gYeH RIREH 9 @ U1 5360 RR W a1 3! A1t A
MEX WR & @ & T 39 [F-RN A &fad 81 IS A1 5F 0 D1 Y BT IR 181 Frerar O 9 A sewaw @
wTa 81 3t gTad | 1% SHWR IBTY, I Tad! A SIb< @Il F TaT1 oI 3T AT Wid ¥eT YUT- /P B+, T T =
¥ forg o wgfraa T1fRT ok gt 81 &1 WY Te feR g 21

IUad TR F TGP A9 U T Uy HT IR garsd:
- EREET eg =1 & 3 1 82

1. gieelar

2. Eitferar

3.3 @ PIS AL

4. 39T

Correct Answer :-



5) WA WRAlP Ia1 1471 TR | o $ -yt B O 39 fagr = o geft 7151 arg =8 <71 @t &1, das&
gae I3a & Y@ A Rafyam @1 el A 3= @M F g @vge @ R afd ag & s iz sg d19¢7
TR A T3 P a8 q9 IGT YUT1 39 9¢ & o= giear ot gerfi-gadt ot H19 Iur Tan giear a-3d ok eira
TEd-UIod WM P Tk §U TR S § GlcH a9k &1 3R geft-3iR TRt ot & ur? gfear wraw
T BT ITEE Fd ATS <, g AR IR a1ew e, AR 3t ge-il R 1T gu vwa-wwaas 0 @t & o
fORTT AT 99 94T, 3T 98 IR H Hier 994 Telt 3, 71 ¥ uRR-fien 39 -faaifieht & g o1 sigren
WA & foe fUod 9re om usig § 4 &Y gog @ g3t HiaT @1 91 WA a1 98 i e g7 & qg &
1S 3ETS AN 9% UaTT 9 3o 1 Tt N1 32 Uss-uss e a1g - 3 gof on st <R ok gof 7 sm
P AT | 3ATE T 3T 7T 3P JPd A1 GI-) STaeR g¥¢H RS 98 @ A1 g RR W ath vt vt A
TMER WX & AN & T I TA-XNb A fAd 1 33 A1 5 0 B G BT IR ) fArerar ol 33 A deH aw 8
W1 &1 S gTad § A1 HUR ISTY, 3§ TAd! A SIhs @Il | Tl o IgT UT| T IGT Y- b B, T 7=+
¥ forg o wgRRraa T1fRe ok gt 81 &1 Wt Te R g 21

ST T DI UGHT A1 G T YUY BT I qa183:
TH- Y@ & fyafaam &1 o @r 82
1. 37cAfAS q@n B

2. @ T T

3. @S
4, 9T ST

Correct Answer :-

6) WA WP gl 1| R 8 ot $o F-420 0 IO I3 fagr w3 o g6t 751 919 718 357 a1 71, a5
gae I3a & Y@ & Rafyam @1 el A 3= @M ¥ g @vge @ Ry afe g &) s Sz sg d19¢7
FER A 9 P a8 a9 8T UT1 39 9¢ F =71 giear ot gerfi-gadt ot #19 Iur Tan giear Ta-3a iR e
TEd-UIod WM P Tk §U TR S §f Gica R @1 3R geft-3iR TRt oft & ur? gfear wraw
I BT IT8E Fd ATS f, g AR IR a1eR a1, AR 3t ge-il R 1T g vwa-wwaae 0 @t & o
@1 deT aa 991, 31T 9% ST9R § Hial 994 Tet &, 19 ¥ URR-fea 39 G- & g-@ &1 sigren
WA & foe fod 9re e tsig § g &Y gog @ 33t Hia1 @1 91 TEA a1 98 Y e g7 & qg &
IS 3STS AN 9 TaTT 9 3o 7 Tt N1 32 Ugs-use e ar¢ 13- I gof on st <Rt ok gof 7 sm
Pl a1 W 1@ | 3T 7 vF Tbd A1 G)-31 STae? g3ed RIREH 93 T6d A1 g3eH RR R 9 35! arelt <t
EX WR & AN & T 39 [A-2N A &fad g1 IS A1 9F 01 D1 Y BT IRAT 11 Freran af 3391t A Hew a1 8
ST 81 S gTad § A1 HUR ISTY, I8 TAd! A b @TaT & T ol IgT UT| T IGT Y- /b B, T 794
¥ forg Y gferaa 1R oik g:&f 811 @1 W te SifteR glar 31

IUYT TR B TGP 14 Y& 7T UY HT 30 9d154:
UH- *qd B a8 auArT &1 f g ?

1. 37 I gar
2. dd W S g1
3. da ST Rdar



4. T N AE Plell BT
Correct Answer :-

o AR A BT

7) WA AP Ia1 171 IR | off $8 -yt B O 39 fagr = o geft 7151 a9 =8 <71 9t 1, das%
gae I3d & Y@ A Rafyam @1 el A 3= @M F g @vge @ Ry Afe ag & s iz sg w1 9e7
YER A T4 Pt g a9 8T YUT1 39 ¢ & 3= giear ot gerf-aadt ot #19 Iur Tan giear Aa-3d iR eired
Tod-UIod WM & Tk §U TRYe S § Glesd a9k &1 3R geft-3iR TRt ot @ ur? gfear wraw
I BT 6" P 313 AT, W R IR TR dUe, R &) gedl R RPE ¢ vwo-wwadas I @1 & oo
ORIt AT 90 4T, 3T 98 IR H Hier 99+ Tell 3, 71 ¥ uRR-fien 39 -faaifeht & g o1 sigren
WA & fo fUod ure om usig § 4 &Y gog @ g3t "iar &1 91 WA a1 98 "y dfeen U3 & qg &
G 3STS AN 9% UaTT 9 3o 7 Tt N1 32 Uss-uss e a1g g3-faai 3 got o wrdt <Rt ok gof 7 sm
Bt AT A T A TG T FF THa A I-gf Slaex g¥eH RREM 93 T8 ¢ TRed RR R b vt vt <t
TMER WX & AN & T I TA-Nb A fAd 81 33 A1 5F T B G BT IRAT 1 fHerar al 33+ A deH awt 8
ST €1 3t gTad | A% HWR IB1, I Tadi A S« @Il § TaT ST IgT T A4 ¥§T UT- [P B+, T T -
¥ forg o wgRRraa T1fRT ok &t 81 &1 WY Te PR g 21

ST TR B UgH 1 U Y U FHT 3R JaIsd:
UR- 9GP WP T 9 791 P o +ff a1 S8 a=ar 22

1. GHASTERY
2. A15d

3. FergAfd
4. gferad

Correct Answer :-

8) WA WRd® Tdl Tl TR § o $© T-23iT ft |t 3 fagr s ¥ 9al 751 919 181 ¥871 al |, a8
gag 35d gl YW@ A foafaa™ @1 gt A 38 @1 & fow wrae ¢ AT afe 9g & a1 ddl? 9g &1 967
YER A T3 Pt a8 a9 8T YUT1 39 ¢ & 3= giear ot gerf-aadt ot H19 Iur Tan giear Ta-3d iR eired
Tod-UIod WM & Tk §U TR S § Gl a9k &1 3R geft-3iv TRt ot 7 ur? gfear wraw
I BT I P 313 AT, W R IR TR dUe, R &) gedl R RPE ¢ vwa-wwaas I @1 & oo
foRT®T AT 99 9T, 3T 98 IR  HieT 99+ Tell 3, 31 ¥ uRR-fien 39 -faaifeht & g o1 sigren
WA & fo fUod ure om usig § g &Y gog @ g3t "iar @ 91 WA a1 98 "y i ¢ & qg &
G SIS AN 9% UaTT 9 I 1 Tt N1 32 Uss-uss e a1¢ g3-faai 3 got on wrdt <t ok gof 7 sm
Bt AT H TG A TG T F5 THa A1 I-gf Slaex g¥eH RREM 93 T8 ¢ TRed RR W) b vt vt <t
MER WX & AN & T I TA-XNb A fAd 1 33 A1 5F T B G BT IR4T A1 fHerar af 33+ A deH awt 8
ST 81 S FTd § A1 HUR IBTY, 3§ TAd! A b @Il | Tl off IgT UT| T IGT Y- b B, T 7=
¥ forg o wERraa T1fRT ok gt 81 &1 WY Te PR g 21

ST TR B UgH 1 U Y U FHT 3R JaIsd:
- U T | U SIS $t 91 B 7 3 98 8-
1. Greled &1 ATABR



2. @ & PR
3. @l Blel &1 HTUBR
4. g8 B & JABR

Correct Answer :-

9) WAN WS Ial T IR § o $© -y 8t 91 39 fagr o ° =elt 751 919 781 351 ot |1, a5F
9 354 & 4@ & Rafeas w1 3 A 3% @A F e wree @ Ry A ag St/ ddiz sg wrae
FER A T3 P a8 a9 3BT UT1 39 9¢ F =1 giear ot gerfi-gadt ot #19 Iur Tan giear a-3a iR e
TEd-UIod WM P Tk §U TR S § GieH R &1 3R geft-3iR TRt oft - ur? gfear wraw
I BT I8 Fd ATS A, g AR IR a1eR a0, AR 3t ge-il R 1T g vwa-wwaae 0 @t & o
@1 deT aa 991, 311 9% ST9R § Hial 994 Tet &, 19 ¥ URR-fea 39 G- & g-@ &1 sigren
WA & foe fod 9re e tsig # 4 &Y gog @ 3Tt Hia1 & 91 JEq a1 98 Y e g7 & qg &
TG 3STS AN 9% TaTT 9 3o 7 Tt N1 32 Use-use e arg 3-faai 3 gof on s <R ok gof 7 sm
Pl a7 A 1@ | 3L 7 vF Tbd A1 G)-31 STae? g3ed RIREH 93 T6d A1 g3eH RR R 9 35! arelt <t
EX WR & AN & T 39 [A-2M A &fad g1 IS A1 G 01 D1 Y BT IRAT 11 Freran af 391t A Hew a1 8
W1 €1 S Tad § A1 HUR ISTY, I8 TAd! A b @IaT & T ol IgT UT| T IGT Y- /b B3, T 74
¥ forg Y gferaa 1R oik g:&f 811 &1 W te SifteR glar 31

IUYT TR B TP 14 T 7T UY HT 30 9d154:
UH- R § S difsa ur?

1%
2. HIAIA

-
4. giean

Correct Answer :-

10) WA WIS 9a T W & o $© TA-4it A 1t 37 fagr w3 o gt 11 919 =8 w51 @) 71, a5
gae I3a & Y@ & Rafram a1 eé) A 3% @F ¥ g wvgs @ Ry afe ag ) s Tz sg d19¢7
FER A 9 Pt a8 a9 IGT UT1 39 9¢ F =1 giear ot gerfi-gadt ot #19 Iur Tan giear Aa-3a ik e
TEd-UIod WM P Tk §U TR S § GieH R &1 3R geft-3iR TRt oft & ur? gfear wraw
I BT I8 Fd ATS f, g AR IR a1eR a0, AR 3t ge-il R 1T g vwa-wwaae 0 @t & o
@1 deT aa 991, 31T 9% ST9R § HiaTl 994 et §, 19 ¥ URR-fea 39 G- & g-@ &1 sigren
WA & foe fod 9ra e tsig § g &Y gog @ 33t HiaT & 91 WA a1 98 Y e g7 & qg &
1S 3STS AN 9% TaTT 9 3o 7 Tat N1 32 Uss-use e arg - 3 gof on s <R ok gof 7 sm
Pl a1 W 1@ | 3L 7 vF Tbd A1 G)-31 STae? g3ed RIREH 93 T6d A1 g3eH RR W) 9 35! arelt <t
EX WR & AN & T 39 [A-2N A &fad g1 IS A1 9F 01 D1 Y BT IRAT 11 Freran af 3391t A Hew a1 g
W1 81 S Tad § A1 HUR ISTY, I8 TAd! A SIh< @Il & T ol IgT UT| " IGT Y- /b B, T 74
¥ forg Y gferaa 1R ok g:&f 811 &1 W te SifteR glar 31



SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
T=H-UKId TR # GF-faai &t dst fea-fom ot 4z
1. 3Uh HHT &l

2. qg-gfear et o

3. gfear AR daid Afeen @

4.1 sferedl A

Correct Answer :-

. R IR Harid A

11) WA WRAIS Ia1 1471 TR & o $3 -y @t A IO 39 fagr w3 o Feit 751 919 98¢ @7 9 |1, a8
gae I3a & Y@ A Rafyam @i eé) A 3% @F F g @vge @ Ry afe ag & s Sz sg d19¢7
FER A T3 Pt a8 a9 3BT YUT1 39 9¢ F o= giear ot gerfi-gadt ot #19 Iur Tan giear a-3d ok eire
TEd-UIod WM & Tk §U TR S § GicH a9 &1 3R geft-3iv TRt ot & ur? gfear wraw
I BT AT Fd ATS A, g AR IR a1ew e, AR 3t ge-il R RH1T gu vwa-wwaas 0 @t B o
fORTT AT 99 94T, 3T 98 IR  Hier 99+ Telt 3, 31 ¥ uRR-fien 39 -faaifieht & g o1 sigren
WA & foe fUod ure om usig § 4 &Y gog @ g3t HiaT @1 91 WA a1 98 "y i ¢ & qg &
1S 3ETS AN 9% UaTT 9 3o 1 Tt N1 32 Uss-uss e a1rg g3-faai 3 gof on wirdt <Rt ok gof 7 sm
Pt a1 ¥ @ | 3RY 7 vP Tbd A1 G1-31 Sae? g3ed RIREH 93 T6d A1 g3eH RR R 9 35! aret <t
TMER WX & AN & T I TA-XNp A fAd 81 33 A1 5T 0 B G BT IRaT g} fArerar ol 33 A der aw @
W1 &1 S FTad § A1 HUR ISTY, 1§ TAd! A b @Il | T off IgT UT| T IGT Y- b B3, T 74
¥ forg o Wl =1iRT ok gt 81 &1 Wt Te PR g 21

ITY TR D1 USHR A I T ¥Y BT IR T4133:
- AWS HFHOH | ] Tedl o2

1. 38 ST ol TEAT el ffel @1 om

2.7Fd ¢3-S &

3. A& # PI$ AR e AT

4. TEAT OX By @I &l AT

Correct Answer :-

« 38 ¥ P TEA A& el & A

12) WA RIS Ia1 1471 TR & o $8 FHT-y@t 0 I 39 fagr w3 o It 751 910 93¢ @71 9 |1, a5
gae I3a & Y@ A Rafyam a1 eé) A 3% @H F g @vge @ R afd ag & s Sz sg d19¢7
TER A 9 Pt a8 q9 IGT UT1 39 9¢ F o= giear ot gerfi-gadt ot #19 Iur Tan giear Ta-3d ok eird
TEd-UIod WM & Tk §U TR S § GicH aR &1 3R geft-3iR TRt oft & ur? gfear wraw
I BT ATEE FXd ATS f, g AR IR a1ex e, AR 3t ge-il R 1T g¢ vwa-wwaae 0 @t & o
fORTT AT 99 9T, 3T 98 IR H Hier 99+ Telt 3, 31 ¥ uRR-fien 39 -faaifieht & g o1 sigren
WA & foe fIed 9re om usig § 4 &Y gog @ g3t Hia1 &1 91 WA a1 98 Y e g7 & qg &
1S 3ETS AN 9% UaTT 9 3o 7 Tt N1 32 Uss-uss e arg g3-faai 3 gof on st <R ok gof 7 sm



BT IEARIT H 3Gl A Y T P TP Y| Q-G1 STaex g¥6H RIREM 96 I6d U1 g¥eH R IR Wb 36 oIt At
TMER WX & AN & T4 I TA-XNp A fAd 81 33 A1 5T 9 Y G BT IR ) fArerar o) I3+ A FeH awr &
STd &1 S gTad # A1 SWR ISTY, S TAd] A SI1PL [Tl & Il S ¥&T UT| JF QT UT- Wb H4, T/ {911
¥ forg ff wglera o1Re ik g:&f 81 &1 W tw SifteR glar 31

ST TN DI USHT A1 I T ¥Y BT IR Fa154:
U ‘P H-BHHHT I TS 1 Y 82

1. Tp-Th PY AT

2. pe-PHehl A Tgar
3. UTS 3@ ¥ ST
4. T AT q 3G, BT fAberar

Correct Answer :-

13) WA WRAP 9T T TR § ot $© -yt A 91 39 fagr &<+ | el 751 919 781 ¥871 a1 |1, a5
gae 354 & 4@ & Rafram @1 aé) A 3% @F ¥ R wvee 2 Ruadfra sg S e e sg d19¢7
FER A dd I 9 99 T§T 4TI 39 9 & 3 gfear ot gorht-aasht o $i9 IuR Ian1 gfear -4 ok ol
Tiod-Uiod WM & Ik §U TRYe S ¥ ales aR &1 3R geit-3iv arT ot & ur? gfear wras
I BT A8 FX ATS A, g R IR a1ey AU, R 3t geil R RHIT g¢ vwra-wohama- 0 vt N o
Rra®T deT aa 991, 3T 98 TR § Higl 399 el g, 319 ¥ TRR-fea 39 G- & g-@ &1 sigren
WA F 1T Nod 9ra A TS § 7 &t gog | g Ara1 Bt 91d Wi @ 98 SYid A 9T B gy &
g SIS AN 9% UaTT 9 I 1 Tt N1 37 Uss-uss e a1g g3-faai 3 got on wrdt <t ok gof 7 sm
BT IARTH TG F 3G 7 ¥F Fd Y| GI-3l ST gYeH RIREH 9 5 U1 360 RR W It 341 A1t A
TMEX WR & &N & T 39 [F-RN A &fad 81 IS A5G 0 D1 Y BT IR 181 Frerar O A A seuaw g
wra 81 3t gTad § 1% SHWR IBTY, I Tad! F SIdb< @Il F TaT oI 3T AT WiF ¥eT YUT- /P B+, T T =
¥ forg o wgfraa T1fRT ok gt 81 &1 WY Te feR g 21

ST TR P TGP A9 YD T Uy HT IR ga1sd:
- fdaT <reg &1 fyaw « 82

1. g

2.5 ¥ PIS AL

3. AT

4, G

Correct Answer :-

14) WA WRAP 9T T TR § ot $© -yt A 91 3 fagr &= | el 151 919 781 ¥871 a1 |1, a5
gae 354 & 4@ & Rafram @1 e A 3= @F ¥ R wvee 2 Ru dfra sg S e e sg d19¢7
FER A dd I 9 99 T 4TI 39 9 & 3 gfear ot gorht-aasht o $i9 IuR Ian1 gfear -4 ok ol



Tiod-Uiod WTEH & Tk §U TRYS S § Gl a9k &1 3R geft-3iv TRt ot & ur? gfear wras
I BT 6" P 313 AT, W R TR TR dUe, R ) gel ) RPE ¢ vwa-wwaas I 36! & oo
a1 deT aa 991, 3T 98 TR § Hial 99 el g, 31 ¥ TRR-fea 39 -t & g3 &1 sigren
WA F 1T Nod 9ra A TS § 7 &t gog | g-& A1a1 Bt 91d Wi @ 98 SYid A 97 B gy &
1S SIS AN 9% UaTT 9 I 1 Tt N1 32 Uss-uss e a1g gF-faai 3 got o wrdt <t ok gof 7 sm
DI IARTH TG A 3G 7 ¥F FPd Y| -3l ST gYeH RREH 93 @ U1 5360 RR W a1 3t At A
TMEX W & &I & T 39 [F-RN A &fad 81 38 A1 5 0 D1 Y BT IR 181 Frerar O N A seuaw @
W1 €1 3 gTad ® A1 HUR ST, I8 Tdal I Sy @IaT & TaT o IgT UT| T IGT UT- Wb B, T 71
¥ forg o wgRraa T1fRT ok gt 81 &1 WY Te PR g 21

ST TR F UgHR 12 IR Y Uy HT IR gaTsd:
- HYTa’ F1 yaiaardt T8 82

1. #g

2. OFT

3. e

4 e

Correct Answer :-

15) WA WIS Ia1 1471 TR 6 o $ THI-3y@t 0 1@ I fagr w3 o gt 151 919 93¢ @71 a9 |1, a5
o I3d & Y@ A Rafram @1 eél A 3% @F F g @vge @ Ry afe sg s s Sdfiz sg d19e7
TER A T4 Pt e d9 BT YUT1 39 ¢ F 3= giear ot gorfi-aadt ot #19 Iur Tan giear Aa-3d iR eire
Tod-UIod WM F Tk §U TRYS S § Gled a9k &1 3R geft-3iv TRt oft 7 ur? gfear wraw
I BT IeH P 313 AT, W AR IR TR dUe, R &) gedl R RPE ¢ vwe-wwadas I @1 & oo
foRT®T AT 99 9T, 3T 98 IR HieT 99+ Tell 3, 31 ¥ uRR-fien 39 -faaifeht & g o1 sigren
WA & fo fUod ure om usie § g &Y gog @ g3t "iar @1 91 WA a1 98 Y i ¢ & gg &
G 3STS AN 9% UaTT 9 3o 1 Tt N1 32 Uss-uss e a1¢ g3-faai 3 got o wrdt < ok gof 7 sm
Bt AT A TG A TG T FF THa A1 I-gf Slaex g¥eH RREM 93 T8 ¢ TRed RR W) b vt vt <t
MER WX & AN & T I TA-Nb A fAd 1 33 A1 5 T B G BT IR 1 Herar al 33+ A deH a8
ST €1 3t gTad | A% HWR IB1Y, I Tadi A S« @Il § TaT ST 3T YT AId ¥§T UT- WP B+, T T -
¥ forg o wERRraa T1fRT ok gt 81 &1 WY Te PR g 21

SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
- T T Il § ared 3 -

1w U

2. ORI e

3. fle@ré 3 arell &

4. @1 I [ET

Correct Answer :-

. gidp IU



16) IR U e, f99 Uit w9 A1

Ut TR SaR, Wi, AT,

T 4TI U T, 7d dRI FeP |

g2 U e AT ¥, R 7Mis T el

ST U B UgHR -1 TS T Uy HT 30X qa13:
- ‘U ST qgiaardt g -

1. 4R

2. 4y

3. fafa

4. &R

Correct Answer :-

. AR

17) we ot v, Re aet @9 w6
Ul T F FaX, A, A, T
AT YT IH &1, AT AR TSHI|

g ¥ T a1 ¥, N At ol S|
39T TSI F YGHT AT T AT YT FT 3o TS
Tee- ‘geHT F dAedd -

1. 3Wh |l

2. 9eT%

3. 37TATST & |1 TehIehl

4. dI<]

Correct Answer :-

o 3TATST & TTYA TEhIh

18) IewsT ah Uf@, foe ar=lt &9 =
Ul T F FaX, A, A, T
IRAT €T IH FT, AT AR TEHI|



g 9 5T A R, N e T T

39T UCHNRT Y YGHT A T AT YT FT I TS
we- 3fAH AT FT F2F &2

L3TH & PS5 A

2.9 & FHeal

3. 7MG & Hgl

4, T T FEl

Correct Answer :-

o A & T

19) Iewe urh U, e = @9 =

Ul T F FaX, A, A, T

IRAT 4T IH FT, AT AR TEHA|

g ¥ T a1 X, R s ol Il

3YYFA ISIIT Y TgHT Al & AT YT FT 3R I8
ved- IRAT 4 97 FT F FfA F a9 §?
1. grm AR O

2. 390 § Pl

3. 09 U UMY I RE ¥

4. 4T BT YA

Correct Answer :-

o UH TP YU AT e ©

20) Rwe ol R, R o 7w @

el T F FaX, A, A, T

AT UM IH &1, AT dRY THI|

g ¥ T a1 ¥, | s ol I

39T TSI F YGHT AT T AT YT FT I TS
uesd- ‘UY eg AR A F F4T -

1. gieelar



2. Efforar
3.5 ¥ B AL
.

Correct Answer :-

21) ewer gl Af@, e o= @9 =1

Ul T F FaX, A, A, T

IRAT 4T IH FT, AT AR TEHA|

g ¥ T a1 X, R s ol Il

3YYFA ISIIT Y TgHT Al & AT YT FT 3R I3
e W FT AT g ?

1. ¥y

2. 3T

3. Y

4. 901

Correct Answer :-

22) ewer gl af@, o gt @9 g

el T F FaX, A, A, T

AT UM IH &1, AT dRY THI|

g ¥ T a1 ¥, R s ol I

39T TSI F YGHT AT T AT YT FT I TS
ved- ‘e’ FT FAEYT asg § ?

1. 9%

2. IfY

3. U8

4. a1fa

Correct Answer :-



23) MWaAer ael @A, fer =l wT @

Ul I A FaX, A, AGY, AN

AT 4T IH FT, AT dRY TEH|

e 9 5T A SR, N e T I

3YYFA ISIIT Y TgHT A & AT YT FT 3R I8
Y- ‘AT & AW 2

1. AT

2. BT

3. ST

4. 31819

Correct Answer :-

24) ewar gl Af@, o = @9 g1

Ul T F FaX, A, A, T

AT UM IH &1, AT dRY THI|

g ¥ T a1 ¥, X s ol Il

39T TSI F YGHT AT T AT YT FT I TS
Ues- 'R T 9ATgardr § -

1. @Il

2. RT AT 31T

3. Uty

4. Q3T

Correct Answer :-

o IRT AT 3RY

25) fewe gl af@d, e ol @9 @
Ul I 7 FAY, A, A, I



e amem 97 &1, 7F AR TEHEI

g ¥ T o X, N e af S

39T UCHRT Y GHT Al T AT YT FT I TS
wee- Ay oreg e A ¥ FATE -

1. gfeT

2. Efiferar

3.59H ¥ PS5 AL

4. AqHE felar

Correct Answer :-

26) MWAa gl AR, et o=l 79 =7

Ul I A FaX, A, AGY, AN

AT 4T IH FT, AT dRY TEH|

T 9 5T A R, SN e T T

39T TCHRT F YGHT A T AT YT FT I qaqBA:
ved- YA &g A FIA-AT HAFR g2

1. 89

2. JHD

3. 37U
4. ScUeT

Correct Answer :-

. 89

27) ewer gl af@d, o o=t @9 g1

Ul T F FaX, A, A, T

AT 4T IH FT, AT dRY TEH|

g ¥ T a1 X, R s ol Il

3YYFA ISIIT Y TgHT Al & AT YT FT 3R I8

WA YA eI A guA 9fFa d i e AmdT w@ena & e qor # @ w1 @ 8



1. WU
2. faaean

3. Y&l
4. SATACY

Correct Answer :-

28) wer welt vfR, Re = w9 H&

Ul T F FaX, A, A, T

AT YT IH &1, AT AR THI|

g ¥ T a1 ¥, | s ol I

39T TSI F YGHT AT T AT YT FT I TS

Y- AH FT YT IR CEHT Yo gar ot § ar 2

1. 9T FASGA & 1T &l
2. 383 M6 Us T §

3.3 o™ 31 S B
4. 38H JINGEAT 3T ST §

Correct Answer :-

. 38d 76 U S

29) WAwT It TR, R o=l 79 F=
Ul T F FaX, A, AGY, T
AT U IH &1, AT AR GSHI|

g ¥ T a1 ¥, X s ol Il
39T UEIIT F YGHT AT T AT YT FT I TS
WRA- 'ARY FT YSH T & ?

1. dRT

2. dry

3. dR

4. arsr



Correct Answer :-

30) Mewe gt Uf@d, f9a gl @«

Ul T T FaX, A, A, T

WA 4 97 F1, A AR TEFA|

g B ar X, SR e W S|

39T UCIRT Y YGHT A T AT YT FT I TS
we- ‘g ¥ B a1 X, R e 9 I FH HeER §?
1. &9

2. JHAD

3. SUAT

4. 3Jurd

Correct Answer :-

Topic:- Social Science (SSC)

1) Who were contemporaries of Kanishka? / HPH & BT S A?

1. Asvaghosha, Kamban, Nagarjuna / 37T, hald, c-lldllcio-l
2. Asvaghosha, Nagarjuna, Vasumitra / 37418, T—I'ITJTIGiT-r, Ellijmﬂ
3. Asvaghosha, Kalidasa, Nagarjuna / 3AT€lW, Pifelgd, Fl'FJ'I'IGjT-f

4. Kamban, Banabhatta, Asvaghosha / Civelrrl, dledHCC, 3TN

Correct Answer :-

« Asvaghosha, Nagarjuna, Vasumitra / 374T€Y, FI'I'?J'IT\_{EH, algiﬁa

2) Which neighboring country of India was referred to as ‘Serendib” by the Arabs? / HRd ¥ frg

USRIl 3% 1 3Rl gRT ' Wf=T & T # wehfa forar ur?
1. Nepal /ﬁ'ﬁﬂﬁ
2. Pakistan /HTWF[



3. Myanmar / FITHAR
4. Sri Lanka / SidT

Correct Answer :-

« Srilanka / didT

3) Evaluation that is used to monitor the learning progress of students during the period of

instruction is called as/ﬁw,ﬁﬁ%ﬁm%WWﬁmmﬁ
R 33 & fore swwTa fan s 3, e s 8:

1. Summative evaluation / TTTcHD d-jyﬁiqn,—i

2. Diagnostic evaluation / wiGIfcieh ?FJ\F?TI?—F[
3. Placement evaluation / fAITSId HedTehe
4. Formative evaluation / TTOTcH® ZFJ\F\’II'I?F[

Correct Answer :-

« Formative evaluation / fdToTca® ?FLF?JTEhT-T

4) What do you mean by BOD (Biochemical Oxygen Demand)? / d.3i1.8}
(TS T Rl feris) & emusT Far ifivmg 82

1. Oxygen demand by aquatic plants / STellT Gt gRT 3iTFETST T AT

2. Oxygen demand by aquatic animals / STl U‘g}ﬁ SR JTFETSI T AT
3. Industrial demand for oxygen / 3ifeTeT & forw 3t AT
4. Water pollution by organic waste / Sifdes 3TRUE §RT STel UeuuT

Correct Answer :-

« Water pollution by organic waste / S 397U gRT ST geuur

5) defined, ‘Social Sciences as those bodies of learning and study which recognize the
simultaneous and mutual action of physical and no-physical stimuli which produce social

relation’. / = ufRkyiita frar &, amiore fagm, ifitrm ek srera & a9
frerl & wu o g ot IRR® iR Smmiifve Sawre @) urwfiye forar & wWigd #d
g SR Ao Jay ST 8 1’

1. James High / 3?43? '{I?



2. Macaulay / Hebrel

3. John Major / ST A

4. Bining & Bining / fafaier vz fafdar
Correct Answer :-

« James High / SIHH HES

6) The research that is based on observed and measured phenomena and derives knowledge from
actual experience rather than theory or belief is known as: /

MY S qaitp R TR gemsi uv i gidar & Sk Rigid a1 YRun & seirg
IIAfd AFHT ERT A YT BT 8, Heard g

1. Empirical research / &Tﬂm 39U

2. Survey research / TA&TOT 3{=dWoT

3. Deductive research / UTAI{3h 37=dwoT

4. Quasi-experimental research / TY-TANTcaD eduoT

Correct Answer :-

« Empirical research / &ﬂﬂ‘l-m 3y

7) According to Seligman, ‘Ethics and Education’ are included in: / AfemaT & IR Afdemdr
3% Rram sa# e g &

1. Semi social science / 31T FrATSI® fa=ma

2. Social studies / ATHATISTR T

3. Pure social science / R[& ATATTSN D fa=iret

4. Science with social implication / AT AT arer A=

Correct Answer :-

« Semi social science / 3% FTHATISTD =TT
8) Which one is not a Nataka (Play)? / @& & I v& aAcsF () gt &2
1. Pratigya Yaugandharayanam by Bhasa / {1 §RT Ul uﬁmmm

2. Saptasati by Hala / &Tel gRT |g&dr



3. Uttara Ramacharita by Bhavabhuti / $#g8{fd gRT 3a% TH#IRAT
4. Mricchakatika by Sudraka / g §RT HToh cHl

Correct Answer :-

o Saptasati by Hala / & gRT Gadd

9) SEBI stands for A SEB) FREGEa®T_____ §

1. Securities Exchange Board of India / A& REreT Taraiol 1S 37T sfear

2. Securities and Safeties Exchange Board of India / FRIaaREST U8 Awcal Taraiol 1S 316 ST
3. Securities and Stocks Exchange Board of India / TFaIRET T T TSt a8 3ATh sfear

4. Stock Exchange Board of India / T€ieh U<l a5 31Tt f3aT

Correct Answer :-

« Securities Exchange Board of India / FAaaIREST Tl S 3T sf3ar

10) What is the standard sea level pressure in millibars? / AT H’ﬂ?ﬁ TR T g9 AT &

FATEIATE?

1. 1000 millibars /1000 AR

2. 1100 millibars /1100 fAfer@R

3. 1013.25 millibars /1013.25 fAfeaR

4. 1025.00 millibars /1025.00 fAToER

Correct Answer :-
« 1013.25 millibars /1013.25 fAToER

11) When was the National Human Rights Commission constituted? / IS¢ ATAATTAHR AT
T TS FHd T ITAT 4UT?

1. 1992
2. 1995
3. 1996

4. 1993



Correct Answer :-

e 1993

12) Why should social science be a part of a core curriculum? / HTHTSIS fAATT F v qET

UTSISHHA HT TEEAT 41 gl AT T?

1. Helps to develop critical thinking / 3T&<T A &I [dh AT I H FAGE Ll gl

2. It deals with human behavior / Tg HATAT TR ¥ JaTAT &1
3. To develop awareness of the world / T4 & STTERSAT I AR AT A & forw|
4. To develop the country / &2T &I fTARTAT T & forT|

Correct Answer :-

« Helps to develop critical thinking / 3Tl 1T Y [AR AT HIA H FAGE AT &

13) ‘General Ticket System’ is another name for . | “STe¥el feFhe gommell S U
AT B

1. Multi-Member Constituency / dg-Ha & IGEICCESE]

2. Triple-Member Constituency / T¥-8eed [@aTae &g
3. Double-Member Constituency / fg-Teed IBEIECRIE]
4. Single-Member Constituency / Tehol-He&g fAarae &1
Correct Answer :-

« Multi-Member Constituency / dg-da&d IGEIEGEAE]

14) Discussion method is also known as: / IR=4T qaf-lﬁ' F 39 A1H H oY T SATAT R
1. Project method / TR Ugfa
2. Holistic method / C[Uﬁﬂ'lﬂ'la gl

3. Socratic method / Qﬂaﬁllﬁl C@%
4. Activity method / feraTeRela Tgfa

Correct Answer :-

« Socratic method / Qﬂaﬁllﬁl ugfa



15) Observation of one’s own behavior by looking within is ./ Tl =afda & qarr
TIT & R SAThPT T F YTGR FT el Ihel FEAdT B

1. survey / T&TOT

2. experimentation / ST
3. introspection / ed{Tdelldhed
4. rating / FHeAThel

Correct Answer :-

« introspection / e Tdellched

16) Who among the following is associated with the perspective of “Education as Social

Transformation”? / RFAfaf@d & ¥ i “arenfers aRada & & & e sw efemor @
wafla g?

1. Mahatma Gandhi / HETcHT I

2. Dr. Radhakrishnan / T. NEICUE]
3. Jacques Rousseau / SIdpUY =1

4. Paulo Freire / OT3ell fh_s.'f)\'

Correct Answer :-

« Paulo Freire / Gr3ell hax

17) Who among the following issued the founding charter of the English East India Company? /
fArafafaa & ¥ s sfaer $ve 339 Huet #1 gramas aret Jr Far

1. Elizabeth I/ Tforsmarer [
2. James I/ SI&H 11

3. James I/ SI& [

4. Charles 1 / aTeq |

Correct Answer :-

« Elizabeth I/ TioramaY I



18) Who was the Sultan of Delhi at the time of establishment of Vijayanagra empire? /
faSTaae R QraTs Y T F TAY el F1 ot wieT 912

1. Balban / defdel
2. Qurtub ud din Aibak / PJd-36-81 Ve
3. Razia Sultan / IS edld

4. Mohammad bin Tughlaq / FeFaq foeT JiTeldh

Correct Answer :-

« Mohammad bin Tughlaq / FlgFaG foet JITeldh

19) Who was the first President of the Indian National Congress? / HRI ISERT HTAT & TIH
et Hie 42

1. Womesh Chandra Bonnerjee / QAT g dAoil
2. Badruddin Tyabji / 9E3e1eT JI&=iT

3. Bipin Chandra Pal / U= ag urer

4. Lala Lajpat Rai / eTell elTolUd 1T

Correct Answer :-

 Womesh Chandra Bonnerjee / SIHLI Teg; At

20) Who remarked that ‘our secondary education remains the weakest link in our educational

machinery and needs urgent reform.’? / @ feoqoft &t for gAY ATeafAS e, gaArd dMarw
FfIerd Y FaR FAGR F31 ¢ AR FHH dchTel FUR Y HTRIFAT1'?

1. Dr. Rajendra Prasad / 3f.3eleg OIS
2. Dr. S. Radhakrishnan / 3f. TH. JUTHT

3. Dr. Ambedkar / 3T, THISHT

4. Maulana Abul Kalam Azad / FITT 31geT Helld 3TSTG

Correct Answer :-

« Dr. S. Radhakrishnan / 3. TH. JTUTHE0T



Inquiry-based Learning is based on which philosophy of education? / 3=a¥or-3menie rferra,
fRram & fFe gele W amenRa &2

1. Realism / 212]T25€I1'c\’
2. Idealism / 3TTETdTC
3. Existentialism / 31T&dcadrg,

4. Naturalism / Cﬁﬁﬁa’l?{

Correct Answer :-

o Naturalism / CIT%EHE

22) India signed a 20 — year ‘Treaty of Peace and Friendship’ in 1971 with L ARTG A
1971 & & |19 20 ety <enifa 3 fA=rar @ftr o gFanr

1. Sri Lanka / T Tept

2. Bangladesh / ST elTer

3. Soviet Union / @IfaTd I9
4.US/ AN

Correct Answer :-

« Soviet Union / @ifdaa g

23) is a body of the United Nations composed of all member states. / H’ga'?l' ITe¢
1 v 1S ¢ S Teft e vt ¥ fAfAa €1

1. Security Council / gI&IT uRug
2. Economic and Social Council / 3T Td ATHTSIR uRug
3. Trusteeship Council / =TT UREG

4, General Assembly / ASTHHAT

Correct Answer :-
« General Assembly / AGTHHT

24) The benefits of Green Revolution in India were limited only to ./ 9Rd # gRa wifa
& T Fael a& @fAa 9



1. Wheat and rice / ﬂ's}f&ﬁ? dldel
2. Barley and jowar / Sit 3R SR
3. Barley and cereals / it 3R 3711
4. Rice and barley / dTdel 3k s

Correct Answer :-

« Rice and barley / TTadl 3T Sit

25) The head of a guild in ancient and early medieval India was called ./ et 3
YRAF ACIIINT IR H 0F 96 F 7T H &g SITaT 4Tl

1. Adhikari / 37T
2. Adhipati / 377ufa
3. Gahapati / ITgafd
4. Jethaka / Side

Correct Answer :-

« Jethaka / SIde

26) The study of fossils as a way of getting information about the history of life on earth and

structure of rocks is known as: / 2at 9% Sfiaet & sfagr AR TgemE i @ya«r & fawy 7
SRR UTe ¥t S v RAftr & w7 & Sfare#t #1 3reage 98 Fgaare:

1. Ecology / Sehlclloil

2. Geography / ISR

3. Paleontology / NIERIGACIE]]
4. Geology / IEEIGISI]

Correct Answer :-

« Paleontology / Uferaiaerarsir

27) The thickness of the Troposphere is maximum at the Equator during which of the following

seasons?/WWWTWW(@W#WW##WW#WW
gl g2



1. Winter / 2fTcIhTellel

2. Spring / a&J

3. Summer / JCHBTeIl
4. Autumn / S FJ

Correct Answer :-

o Summer / FTHRTIIA

28) The value of final goods and services produced in an economy in a year is known as .
/w7 ot ardegayr # seurfea sifaw awqat ik danat & Foa F & T # Tl
ST R

1. Per Capital Income / Ufd GaiY 31

2. Gross Domestic Product / Hehel B[ 3cUTG
3. Gross National Income / ehel TEIA 3T

4. Gross National Product / @ehel ITETT 3cUTG

Correct Answer :-

« Gross Domestic Product / @ehel Te] 3cUTG

29) Objective-based teaching is suggested by: / 3GaT-HTLTR fALTOT g7k qART AT 3T Ff
1. C. Norman /@f. '_‘|=|ﬁ:[

2. D.W. Allen / E1. 3, Teld

3. Benjamin S. Bloom / SR« TH. <o

4. David Crowder / 31d3 shisx

Correct Answer :-
« Benjamin S. Bloom / SoTTfd<T TH. cold

30) Which one of the following is a disadvantage of Inquiry-based Learning? / Aeafaf@a & @
Fiet sreawor-3menie 3rfRerT 1 v T B

1. Promotes a deeper understanding of content / TTHIAY G| dlﬁ(lé H ST o forw URT ot el




2. Involves a lot of preparation and planning time / I¢ dgd AR AR 3R JISTT GHYT QMH T Bl
gl

3. Builds initiative and self-direction / Ugel 3R 3TcA-TEAT T IMUR I@aT %I
4, Warms up the brain for learning / 31913 & ToIT ATETSH Pl ScaTTod BT &l

Correct Answer :-

« Involves a lot of preparation and planning time / & dgd AR AR 3R IS THT MH T B
gl

31) Which Finance Minister of India initiated the New Economic Policy (NEP)? / IRd & e
T 7ot & 7€ 3nf¥ie ey (wer$eh) i yesma i

1. Morarji Desai / FARRSI TS

2. Manmohan Singh / m @'{—‘?

3. CD Deshmukh / €131 é;mgpzr

4. TT Krishnamachari / E1ET oot

Correct Answer :-

« Manmohan Singh / FTAIES [&e

32) Which plan discussed in detail the food security in India? / Rd & Ty gIam & fav e
AT W AR & T2 §§?

1. Fifth plan / Qrerdt Jrat
2. Eighth plan / 3TadT Qretelr
3. Sixth plan / T AT

4. Ninth plan / gl Jreter

Correct Answer :-

« Ninth plan / SdT JrtaT

33) Which Article of the Constitution of India empowers a citizen the right to move to the
Supreme Court to enforce Fundamental Rights? / Rd & gfaurs 1ol ar 31@?&?. T
ARTR® I #AlfoF JAfTFERT F vafda F= F fov gafca e # g F1 FfoFr gars?



1. 37
2.39
3.35
4,32

Correct Answer :-

. 32

34) Which Article of the Indian Constitution provides for an independent Election

Commission?/Wmﬂmmﬁmwwwmmmg?
1.323
2.327
3.324
4. 325

Correct Answer :-

e 324

35) Which of the following is not applicable to Micro Teaching? / R&=ifaf@a & ¥ #ia q&H

fRrator (FTEY &) 9T AT AE B2
1. Immediate feedback is not gained. / dcehlel ‘;Iﬁ@ UTd el @ldl &

2. Duration of instruction is limited from five to ten minutes. / f¢2r &Y 3rafd , ura § &9 fAde ae
AT A B

3. The size of the learning group is small. / 37T HIHE DT TP BIeT BT &

4. Teaching is carried out under controlled conditions. / T&70T, fAaa aREAufA=T # fhar STar &l

Correct Answer :-

« Immediate feedback is not gained. / dcehlel Qﬁg‘f@ urg ?-Iﬁ %T?-ﬁ %I

36) Which of the following dynasties had the longest rule? / fAAa=Ifaf@d & ¥ fFa Tsrau =1
ATHTHI GG e YT?

1. The Pratiharas / qiéglz



2. The Palas / QTel
3. The Senas / Q<

4. The Rashtrakutas / JTERC

Correct Answer :-
+ The Rashtrakutas / J7TERHC

37) Which among the following Viceroys was associated with the Ilbert Bill Controversy? /

farafaf@a & @ sl a1 are saad e e & Jerar
1. Lord Ripon/ dre ko=

2. Lord Lytton/ s fored

3. Lord Curzon /18 @oid

4. Lord Hardinge / ?ﬁé%ﬂ%‘ﬂ

Correct Answer :-

« Lord Ripon/?ﬁ@cﬁ'q:[

38) Which among the following is a major obstacle to economic development in India? /

frrafaf@a 7 & a1 e 7 s R & v v g amer g?

1. Low productivity / f@dT ScUrgdhd
2. Low level unemployment / T TR I SRISOTR

3. High literacy rate / 3T HI&T T G

4. Increased GDP rate / Hhel HQO;L:)CLIIC\ A Z['I:Z"

Correct Answer :-

« Low productivity / fe<T Scurgerdn

39) Which among the following is a commercial bank? / fAFafaf@a & @ w7 e aiOSaF &=
&

1. State Bank of India / TR ¥CC S
2. Regional Rural Bank / &3 10T d&



3. Reserve Bank of India / YR ReTd d
4. Cooperative Bank / TR dh

Correct Answer :-

« State Bank of India / ARG ¥ dp

40) Which among the following Mughal emperors prohibited the use of tobacco? / ffafaa
A § FFw FITer gATE A AFaTE & 3TANT i gfaatt fmar ar

1. Jahangir / STT9IR
2. Babur / dTel¥
3. Shahjahan / &SIl

4. Akbar / heX

Correct Answer :-

« Jahangir / STERIR

41) An effective teacher tries to make the class room environment more ./ Uk YHTAT

fRraTeh, F&T F araTavor F 3T 30F AT |
1. democratic / SNehdITIeh

2. autocratic / WQT

3. strict and rigid / €T 3R PR

4. anarchic / 3_TSIH

Correct Answer :-

« democratic / SlhdITAh

42) The silver coin introduced by Sher Shah and continued by the Mughals was : / 32§ GarT
vafaa frar rar sk Ferat gart SRy @ A il w1 [ o

1. Rupaya / 24dl

2. Asharfi / 3716t

3. Muhar / ?Fﬂ'e‘»T



4. Dinar / 1R

Correct Answer :-

e Rupaya / Ul

43) Many of the social problems in modern India could be due to the neglect of: /

SAMYFIP HRA | B ATATRTS THETSHT BT BRI {19 BT IU&MT &) TPal 2
1. Higher Education / 3TaaR TI&T

2. English education / 37arsiT fver

3. Value education / 31TGeT fRU&Tm

4. Technical education / ceheitehl TRU&TT

Correct Answer :-

« Value education / 3-Tl'q"\’? fQrem

44) Who has the power to recommend the dismissal of the State Government and suspension or
dissolution of State Assembly? / ITod TXPHTR B W 3R T4 U= HT & a7 ar
foraes ot Riwrivr w37 Y wifea fvws T 82

1. Prime Minister / UHTAHAT
2. Parliament / §d<¢

3. Governor / 1Tl
4. Cabinet / hfdae

Correct Answer :-

o Governor / TadUTel

45) Who is considered the father of Green Revolution at the world level? / fJd%d TR TR Eﬁ_d
Pifd & F® S AT 1T 82

1. Thomas Malthus / JTHT ATcTT
2. Norman Borlaug / AT AT
3. Cecil Salmon / T8 TTHAT

4. William S. Gaud / Raforga Ty, ails



Correct Answer :-

« Norman Borlaug / ATAT IR

46) Which of the following reason is responsible for highest percentage female migration in

India? / HRd & AfgAT Yara+ 91 =49 gfazradr & fou fFAufafad § @ #1191 sru
ITRCA 82

1. Stability / TEARAT
2. Employment / USTITR

3. Marriage / faaTe
4. Education / fvetr

Correct Answer :-

« Marriage / faarg

47) The “Helmand Province” of Afghanistan is famous for cultivating which of the following? /

Frofafad § @ st @@ ¥ R sremfas &1 <@ade v uRie 82
1. Opium / 3THIH

2. Wheat / 31§

3. Cotton / pUTH

4. Tobacco / ddTH

Correct Answer :-

« Opium / 3THIHA

48) Lal Bahadur Shastri's Samadhi is also known as: / ¢IT¢] d@IgY TRl BT A BT ERUG L
| ot ST ST 8

1. Shakti Sthal / 20feh G2el
2. Shanti Van / QIiciidel
3. Chaitrabhoomi / ﬁlﬂ'ﬁﬂﬂf\

4. Vijay Ghat / fJas1a g1

Correct Answer :-



« Vijay Ghat / f[dsg g1

49) Every year the government announces the prices of agricultural goods as a backing for

farmers’ produce is known as ./ U ¥ TWHR fral ot Sus & IHdT & Fu o
PN IS F DIl B! Gy H g, oA GG

1. Limit price / @ e

2. Base price / 3TIR H{eT

3. Exchange price / fafaaa &3
4. Support price / THIA ;e
Correct Answer :-

« Support price / RERE] Hed

50) How many countries of Southern Africa make the Southern African Customs Union

(SACU)? / &f&roft st & fora=t &1 frae< gféof snpie diar e 9 (SACU) &1
fFrafor #a 82

1.3
2.5
3.4

4. 6

Correct Answer :-

51) One species of Coffee called Coffea charrieriana is free of Caffeine. In which of the

following countries Coffea charrieriana is grown? / PHIBI DI Udh TSI T SIw IR
$1 o1l 3, W | gad sial 3 | 1 & A fr 321 & S o =R Suws st 32

1. Vietnam / faaa<arH
2. Yemen / JHA

3. Cameroon / hAET
4. Liberia / s T

Correct Answer :-



« Cameroon / AT

52) A variety of pedagogies that involve students in discovery or research and
employ approaches of learning is called | faftra R & fRreomms st
oA B e @it a1 SFAvUT § AR F¥ B, ok aﬁwrf‘m%'eﬁaﬁwﬁﬁuﬁﬁa
HIAE,__ HgaEigl

1. Problem based learning / THTIT 3R A1
2. Learning from observation / 3dellehel gIRT 37TQITH
3. Inquiry based learning / 3=dWoT TR 3TAITH

4. Pedagogy of learning / 3779913 T fAGTOTRTH

Correct Answer :-

« Pedagogy of learning / 311913 T FITOTRMA

53) Barak valley in Assam is famous for which among the following? / PRf@T A 3maH
0 °rél fraes fare wflger e

1. Bamboo Industry / ST& 31T

2. Petroleum Production / QSIToIIH ScUTGed
3. Cottage Industries / @'{ 34197

4. Tea Cultivation / T T Wl

Correct Answer :-

« Tea Cultivation / I hY @Y

54) Which Unit/Scale is used to measure the ‘thicknesses of Stratospheric Ozone layer’? /

‘TR ST I FT AT T AT & forw foFg ss/AAT= F1 399597 fFar ST 82

1. Melson units / FelEeT ShISAT

2. Beaufort Scale / a?ijFﬁilé YHTAT

3. Dobson units / SITH SHIBAT

4. Sieverts / Trac

Correct Answer :-



« Dobson units / 3TITA ShISAT

55) Quit India Movement was launched in the year . | TR BISY ATGIeel av £ ) >E
faram aram &

1. 1945
2. 1942
3. 1930
4. 1919

Correct Answer :-

« 1942

56) What is the approximate interval between spring tide and neap tides? / g SIR-HTET sk
oY SAR-HTET F s IATTAT IHaTeT F4T 82

1. 30 days / 30 &=
2.1day /1T
3.7 days/ 7 fea
4. 15 days / 15 f&=1

Correct Answer :-

« 7days/7 e

57) The Lion capital at Sarnath belonged to which one of the following kings? / ¥ReITq &Y e
ToraTe! farafaf@a & @ frw ver & wafaa o

1. Vikramaditya / fasparieea
2. Kanishka / eIt

3. Ashoka / 3721Teh

4. Ghatotkacha / Gl

Correct Answer :-

« Ashoka / 310



58) In which layer of the atmosphere is Ozone gas concentrated? / W NFTRATA

3T A Fea 32

1. Asthenosphere / TEAATHIIT
2. Stratosphere / GHAATTHS T

3. Tonosphere / ATITHS T

4. Exosphere / STEIHS A

Correct Answer :-

« Asthenosphere / TEAATEHII

59) Chalcolithic Age is also known as: / STrIfATAE T Y 50 T H $ft Sre1T SATAT B:
1. Neolithic Age / AT d® Rcll

2. Copper Age / dTd dT

3. Stone Age / UTHTOT JdT

4. Tron Age / ol kel

Correct Answer :-

« Copper Age / dTH JaT

60) During the reign of which of the following Mughal rulers, did Ahmad Shah Abdali invade
India for the first time? / fAFTfaf@a & ¥ frad AraeTahier &/ FITT ATHF HEHT ATE HeaTell o
qgell a0 R T 3MHAOT fomam 412

1. Jahandar Shah / E?TIE."IT ATE
2. Shah Alam II / g 3TeTH 11
3. Bahadur Shah / BRSNS
4. Ahmad Shah / 3Tgdq /Te

Correct Answer :-

o Shah Alam II / Q& 3TelH 11



